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QUESTION 1

Who should update the work estimates during the Sprint? 

A. Only the team members 

B. The Project Manager 

C. The Product Owner 

Correct Answer: A 

 

QUESTION 2

The team determines that it has over-committed itself for a Sprint. Who should be present when reviewing and adjusting
the Sprint work? 

A. The team, the Scrum Master and the Product Owner. The Stakeholders should be consulted. 

B. The team and the Scrum Master. The Product Owner should be consulted. 

C. The team only. The Product Owner should be consulted. 

Correct Answer: C 

 

QUESTION 3

During a Sprint, the team completes four stories with story points 3, 5, 8 and 2 respectively. They further complete half a
story with a story point of 13. 

What is the velocity of the team? 

A. 18 

B. 24.5 

C. 31 

Correct Answer: A 

 

QUESTION 4

When is a Sprint complete? 

A. When all of the Product Backlog items are completed. 

B. When all the tasks in the Sprint Backlog are completed. 

C. When the Sprint defined time box ends. 
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Correct Answer: C 

 

QUESTION 5

What is the relationship between the Product Backlog, the Release Backlog and the Sprint Backlog? 

A. The Product Backlog is a subset of the Sprint Backlog, which is a subset of the Release Backlog. 

B. The Release Backlog is a subset of the Product Backlog, which is a subset of the Sprint Backlog 

C. The Sprint Backlog is a subset of the Product Backlog, which is a subset of the Release Backlog. 

Correct Answer: C 
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